METHOD 1
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METHOD 2
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a+ib=2-i){(a +2) +ib)
a+ib=2(a+2)+2b-ia+2)+b
at+ib=2a+b+4+2b—a-2)
attempt to equate real and imaginary parts
a=la+tb+H=2>a+tb+4=0)

and b=2b-a-2(= —a+b-2=0)

Note: Award Al for two correct equations.
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a*+diab - B =3+ 4
Equate real and imaginary parts
a*—b=32ab=4

Since b=
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Using factorisation or the quadratic formula
= a==2
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EITHER
Letoy=x+1ip
= x+iy—ix—iy=5+3
Equate real and imaginary parts
= x+y=5
= +y=3
2y=8
y=4 = x=lie ;=1+4
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METHOD 1

20+ 10bi=(1 — H)[—7 + %)
20 + 1051 = (=7 + 9B) + (9 + 7h)i
Equate real and imaginary parts
EITHER

—7+95=20

OR

10b=9+7h

ib=9

b=3

METHOD 2

_ (Q+hi)1+bi) —7+9i
A=B)1+8) 10

2-b1+3H —7+9

1+ 10
Equate real and imaginary parts
2— b’ .
- 51 =—l Equation A
1+5 10
i=i Equation B
1+6° 10

From equation A
20 - 10b%= 7 - 7%°
362 =27
h==3
From equation B
3056 =9+ 957
352 -106+3=0
By factorisation or using the quadratic formula
b= 1 or 3
3
Since 3 is the common solution to both equations b = 3
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